
How much change?

James, Daniel and Lucy go to the shops. They each have £1 to spend.
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James bought a teddy bear and crayons, that cost 74p altogether.  How much change does he need?

                       ___________________________

                                                                74                                                   100
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[image: image4.wmf] Daniel bought a kite and a bag, these cost 81p.  How much change should he have?

                  _______________________
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3. [image: image5.wmf][image: image6.wmf]Lucy bought sunglasses and a football, they cost 63p.  How much change should she have?                                                   
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